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(i) All the four questions ore compulsory.

(ii) AII questions carry equal weightage.

l . Answer the following question in about 600 words.

Explain the concept of development. Discuss the

factors affecting the physical and motor
development.

OR

What are the causes of infant mortality in India ?

Discuss the child rearing practices followed in our

country.
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2 . Answer the following question in about 600 words.

What are the basic assumptions underlying the
cognitive development ? Distinguish between the
early and late cognitive stages.

OR

What are the types of psychological needs ? Discuss
the role of environment in the development of
psychological needs.

Answer any four of the following questions in
about 150 words each :

Describe various aspects of child development.

Discuss the factors affecting needs of
children.

Discuss the role of play in the development of
imagination.

Describe the pattern of moral development
during early childhood and the role of teacher
in such development.

Discuss 'child development' as an individual
process.

3.

(i)

(ii)

(iii)
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4. Answer the following question in about 600 words'

You might have observed the children at home or

in school. Write a report about their social and

emotional behaviour spelling out the reasons for the

same.
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